Primitive root modulo p

=N ot w N

11
13
17
19
23
29
31
37
41
43
47
53
99
61
67
71
73
79
83
89
97
101
103
107
109
113
127
131
137
139
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23

35

2678

26711

3567101112 14

2310131415

571011141517 1920 21

238101114 15 18 19 21 26 27

3111213 17212224

25131517 18 19 20 22 24 32 35

67111213 1517 19 22 24 26 28 29 30 34 35

35121819 20 26 28 29 30 33 34

510 11 13 15 19 20 22 23 26 29 30 31 33 35 38 39 40 41 43 44 45

235812141819 20 21 22 26 27 31 32 33 34 35 39 41 45 48 50 51

2681011 13 14 18 23 24 30 31 32 33 34 37 38 39 40 42 43 44 47 50 52 54 55 56

267101718 26 30 31 35 43 44 51 54 55 59

27111213 18 20 28 31 32 34 41 44 46 48 50 51 57 61 63

711 13 21 22 28 31 33 35 42 44 47 52 53 55 56 59 61 62 63 65 67 68 69

511 13 14 15 20 26 28 29 31 33 34 39 40 42 44 45 47 53 58 59 60 62 68

3672829 3034 35 37 39 43 47 48 53 54 59 60 63 66 68 70 74 75 77

256813141518 19 20 22 24 32 34 35 39 42 43 45 46 47 50 52 53 54 55 56 57 58 60 62 66 67 71 72 73 74 76 79 80

36713141519 23 24 26 27 28 29 30 31 33 35 38 41 43 46 48 51 54 56 58 59 60 61 62 63 65 66 70 74 75 76 82 83 86

571013 14 15 17 21 23 26 29 37 38 39 40 41 56 57 58 59 60 68 71 74 76 80 82 83 84 87 90 92

237811121518 26 27 28 29 34 35 38 40 42 46 48 50 51 53 55 59 61 63 66 67 72 73 74 75 83 86 89 90 93 94 98 99

56 11 12 20 21 35 40 43 44 45 48 51 53 54 62 65 67 70 71 74 75 77 78 84 85 86 87 88 96 99 101

2567815171820 21 22 24 26 28 31 32 38 43 45 46 50 51 54 55 58 59 60 63 65 66 67 68 70 71 72 73 74 77 78 80 82 84 88 91 93 94 95 96 97 98 103 104
610 11 13 14 18 24 30 37 39 40 42 44 47 50 51 52 53 56 57 58 59 62 65 67 69 70 72 79 85 91 95 96 98 99 103

3561012 17 19 20 21 23 24 27 29 33 34 37 38 39 43 45 46 47 54 55 58 59 66 67 68 70 74 75 76 79 80 84 86 89 90 92 93 94 96 101 103 107 108 110
3671214 2329 39 43 45 46 48 53 55 56 57 58 65 67 78 83 85 86 91 92 93 96 97 101 106 109 110 112 114 116 118

2681014 17 22 23 26 29 30 31 37 40 50 54 56 57 66 67 72 76 82 83 85 87 88 90 93 95 96 97 98 103 104 106 110 111 115 116 118 119 120 122 124 126 127 128
356121320 21 23 24 26 27 29 31 33 35 40 42 43 45 46 47 48 51 52 53 54 55 57 58 62 66 67 70 71 75 79 80 82 83 84 85 86 89 90 91 92 94 95 97 102 104 106 108 110 111 113 114 116 117 124 125 131 132 134
23121517 18 19 21 22 26 32 40 50 53 56 58 61 68 70 72 73 85 88 90 92 93 98 101 102 104 108 109 110 111 114 115 119 123 126 128 130 132 134 135
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10
20
30
40
50
60
70
80
90
100
110
120

’asave "primitive"
’print=print+"genshikonichiran"
for Pn=1 to 50:P=prm(Pn) :print P,
for R=2 to P-1:Frag=0
for N=2 to P-2
C=(R"N-1)/P
if C=int(C) then Frag=1
next
if Frag=0 then print R;
next
print

next
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